		PLANT EN I	<u>FERPRISES PROD</u>	UCTION		
_	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				827	cords	
Pulpwood (Total)				827		
Saw Timber						
Hardwood				363,088	board feet	
Saw Timber (Total)				363,088		
Total Pulpwood, Chip & Saw	2					\$207,076
Saw Timber FOB Mill						
Total Forestry Stumpage						\$123,658
Christmas Trees	*			200	trees	\$8,000
Forestry (Total)						\$215,076
FRUITS						
Blackberries	10	2.0	900.00	1,800	pints	\$1,800
Citrus					-	
Satsumas	*	2.0	400.00	800	bu.	\$8,000
Citrus (Total)		2.0				\$8,000
Figs	*	5.0	400.00	2,000	lbs.	\$2,400
Peaches	*	8.0	250.00	2,000	bu.	\$60,000
Fruits (Total)		17.0				\$72,200
FEED GRAINS						
Corn	*	1,039.0	120.00	124,680	bu.	\$283,024
Feed Grains (Total)		1,242.0				\$283,024
HAY FOR SALE		-				
Grass	60	10,000.0	3.00	30,000	tons	\$1,500,000
Hay for Sale (Total)		10,000.0				\$1,500,000
HOME GARDENS NURSERY CROPS	27,380	<i>.</i>				\$8,214,000

DI ANT ENTEDDDIGEG DDODLCTION

Page 1 of 7

PLANT ENTERPRISES PRODUCTION							
	Number of		Yield per	Total	Units of	Gross Farm	
Crop	Producers	Acres	Acre	Production	Measure	Value	
NURSERY CROPS							
Floraculture & Bedding Plants	*				acre	\$1,750,000	
Woody Ornamentals	*				acre	\$500,000	
Foliage Plants	*				acre	\$500,000	
Nursery Crops (Total)						\$2,750,000	
PECANS							
Native	3,200	800.0	630.00	504,000	lbs.	\$504,000	
Pecans (Total)		800.0				\$504,000	
RICE	30	6,366.0	58.50	372,411	cwt.	\$2,979,288	
SOYBEANS	20	8,445.0	9.80	82,761	bu.	\$513,946	
SUGARCANE		,					
Raw Sugar	32	14,575.0	5,600.00	81,620,000	lbs.	\$9,916,830	
Molasses		14,575.0	168.00	2,448,600	gal.	\$355,047	
Sugarcane (Total)		14,575.0				\$10,271,877	
VEGETABLES							
Cucumber							
Fresh	10	1.0	315.00		bu. (50 lbs.)	\$3,150	
Pickling	*	400.0	100.00	40,000	bu. (50 lbs.)	\$120,000	
Cucumber (Total)		401.0				\$123,150	
Eggplant	10	1.0	650.00		bu. (33 lbs.)	\$9,750	
Mustard (Fresh)	8	1.0	600.00		doz. bunches	\$4,200	
Onions	10	5.0	250.00		bag (50 lbs.)	\$31,250	
Green Onions	10	1.0	616.00	616	lbs.	\$1,232	
Shallots	8	1.0	1,122.00		doz. bunches	\$6,732	
Snap Beans (Fresh)	6	1.0	125.00	125	bu. (30 lbs.)	\$3,125	
Southern Peas (Fresh) Squash (Fresh)	10	1.0	75.00	75	bu. (24 lbs.)	\$1,875	

PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Yellow Squash	7	1.0	135.00	135	bu. (45 lbs.)	\$2,025
Zucchini Squash	7	1.0	120.00	120	bu. (45 lbs.)	\$1,440
Squash (Fresh) (Total)		2.0				\$3,465
Sweet Corn (Fresh)	10	14.0	630.00	8,820	doz. ears	\$30,870
Tomatoes (Field)	10	1.0	1,200.00	1,200	lugs (20 lbs.)	\$21,600
Turnips (Fresh)	10	1.0	500.00	500	doz. bunches	\$3,500
Vegetables (Total)		430.0				\$240,749
WHEAT	*	908.0	37.50	34,050	bu.	\$110,663
TOTAL ALL PLANT ENTE	RPRISES					\$27,654,822

	Number of	Units of	Total	Units of	Gross Farm
Fisheries	Producers	Production	Production	Measure	Value
AQUACULTURE					
Crawfish (Farm)	40	4,000 Acres in Prod.	2,600,000	lbs.	\$1,560,000
Aquaculture (Total)					\$1,560,000
FRESHWATER FISHERIES					
Freshwater Finfish **			10,143	lbs.	\$8,686
Freshwater Fisheries (Total)					\$8,686
MARINE FISHERIES					
Crabs **	13		217,568	lbs.	\$137,351
Commercial Finfish **	*		10,143	lbs.	\$12,577
Marine Fisheries (Total)					\$149,928
FUR ANIMALS			237	pelts	\$1,740
HONEY	15	5,000 No. Hives	375,000	<u>^</u>	\$277,500
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISE	ES	,		\$1,997,854

** The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION								
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value			
CATTLE & CALVES								
Steer Calves								
300-400 lbs.			1,400	head	\$620,046			
400-500 lbs.			2,400	head	\$1,211,544			
500-600 lbs.			900	head	\$503,168			
600-700 lbs.			250	head	\$159,250			
Steer Calves (Total)					\$2,494,008			
Heifer Calves								
300-400 lbs.			800	head	\$322,532			
					Page 4 of 7			

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
400-500 lbs.				1,200		\$558,090
500-600 lbs.				1,200	head	\$633,402
600-700 lbs.				600	head	\$358,800
Heifer Calves (Total)						\$1,872,824
Yearling Cattle						
600-700 lbs.				750	head	\$477,750
700-800 lbs.				750	head	\$517,500
Yearling Cattle (Total)						\$995,250
Cow-Calf Pairs				1,100	pair	\$1,045,000
Cull Cows				1,500	head	\$615,953
Cull Bulls				200	head	\$183,690
Cattle & Calves (Total)	230	10,000	No. Cows			\$7,206,724
HORSES						
Brood Mares						
Race Horses	80	1,200	No. Brood Mares	1,000	head	\$8,000,000
Show Horses	30	125	No. Brood Mares		head	\$350,000
Recreation Horses	110	170	No. Brood Mares	125	head	\$187,500
Brood Mares (Total)						\$8,537,500
Stud Fees						
Race Horses			No. Stallions	1,000	mares bred	\$2,000,000
Show Horses		25	No. Stallions	100	mares bred	\$150,000
Recreation Horses		15	No. Stallions	125	mares bred	\$25,000
Stud Fees (Total)						\$2,175,000
Race Horses	130			400	head	\$4,000,000
Show Horses	400			1,000	head	\$4,000,000
Recreation Horses	900			1,800	head	\$2,700,000
Horses (Total)						\$21,412,500

ANIMAL ENTERPRISES PRODUCTION

Page 5 of 7

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
RABBITS						
Fryers	*	1,000	No. Animals	4,000	lbs.	\$3,200
Does	*	250	No. Animals	1,000	lbs.	\$150
Rabbits (Total)						\$3,350
RATITE AND OTHER	EXOTIC 1					
Emu	*		Breeders		each	
Ratite and Other Exotic	Fowl (Te					
QUAIL	*	300	No. Breed	3,000	each	\$6,000
			Stock			
SHEEP						
Wool		325	No. Sheared	1,600	cwt.	\$448
Slaughter Lambs					head	\$24,375
Feeder Lambs				35	head	\$2,100
Show Lambs					head	\$9,625
Stocker Sheep					head	\$1,875
Cull Sheep				75	head	\$4,125
Sheep (Total)	30	325	No.Breeding			\$42,548
			Ewes			
GOATS						
Show Goats					head	\$9,250
Slaughter Goats					head	\$10,500
Stocker Goats				-	head	\$3,400
Cull Goats				25	head	\$1,500
Goats (Total)	25	175	No. Does			\$24,650
SWINE						
Show Pigs					head	\$16,500
Feeder Pigs					head	\$9,200
Slaughter Hogs				25	head	\$3,900

Page 6 of 7

ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
SWINE							
Culls				15	head	\$1,680	
Swine (Total)	*	20 No	o. Sows			\$31,280	
EXOTIC ANIMALS							
Deer/Antelope	*	500 No	. Animals	400	head	\$50,000	
Exotic Animals (Total)						\$50,000	
TOTAL ALL ANIMAL EN	NTERPRISES					\$28,777,052	
LAFAYETTE PARISH	TOTAL					\$58,429,728	